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QUESTION 1

Which three services can users request through the self-service catalog using vRealize Automation? (Choose three.)
A. Media services

B. Personnel services

C. Custom services

D. Application services

E. Infrastructure services

Correct Answer: ADE

QUESTION 2

A manager asks an administrator if it\\'s possible to know when infrastructure components in the cloud will run out of
capacity. Which vRealize Operations Super Metric badge would allow the manager to the remaining capacity and time
to exceed capacity for these components?

A. Risk

B. Health

C. Performance

D. Efficiency

Correct Answer: B

QUESTION 3

An administrator wants to automatically manage virtual machine change requests and services as well as remove virtual
machines when they are no longer needed. Which product includes a lifecycle management capability to help you
accomplish these tasks?

A. vRealize Automation

B. vCenter Server

C. vRealize Operations

D. NSX Manager

Correct Answer: B

QUESTION 4
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A company has experienced significant growth over the past year and needs a more streamlined method of deploying
large numbers of virtual machines and virtual networks. Which two components can be implemented within the
company\\'s virtual environment to accomplish this task? (Choose two.)

A. vRealize Automation

B. vCloud Air

C. VMwate NSX

D. vCenter Operations

Correct Answer: BC

QUESTION 5

A company has purchased several ESXi hosts that contain multiple hard disks and SSD drives. Which technology will
allow the company to combine the hard disks and SSD drives into a software-based high-performance storage pool?

A. Storage APIs

B. VMFS

C. Virtual SAN

D. High Availability

Correct Answer: B
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